Grade 9 Math In-Class PRACTICE Assignment

Unit 8 — Circle Geometry

Name:
1 2 3. 4 5
6 7 8. 9 10
1. For the circle with centre O, which line segment is a perpendicular bisector?
|
A AC
B. ED
D. IJ
2. In the diagram above, which is a central angle?
A. £2AOG
B. palle
C. 2DPO
D. pAell!
3. BC is a tangent to the circle with centre O. What is the measure of ZBOC?
e (R0 -(A0€32) i
B. 68 =10~ 112 v
- (o}
c. 78 =~ 6%
D. 90°



4.

, - b =20 -(S
‘ b-2400-225

What is the measure of ZACB?

A. 12°

B39 LRCR= 7 2 2
C. 78° -

D. 156°

What is the value of x?

A. 28°

B. 31°

C. 62°

D. 124°

What is the value of ZBCD?
A 43° R (R0 (ﬁ'm'-lm
=\80-133 [ &

C. 57° s L-I '{.°

PQis tangent to the circle with center O. What is the length of the radius of the circle?

z
b=c'-a
5cm 1. 2 i B

25cm

NN

L>=l?s.2




8.

10.

In the circle with centre O shown, what is the measure of x and y?

A. x=56°%y=56°

fr)m 56°,y=@

C.  x=112°y=56° I
D. x=112°y=112°

What is the measure of ZBCO?

) BCo=190-(%0t%

B. 49° =\ %0 - ‘Lu
C. 51 = _30‘0
D. 90°

What is the measure of angle x?

B. 42°

C. 54°

b8 = (1R6-116) 52
4 -2
=32




Section 2 — Show workings for all questions!

11.  AB is tangent to the circle with centre O. B

A. Find the measure of ZOAC. (1 mark)
Z0AC = (80 -(20+42)
2190 -132 25
- Ll Q
JC

B. Find the measure of ZBOC. (1 mark)

<RocC =180 -(q0+3R)
= IRO‘D.R Scm
= 5‘2"
C. Find the length of OC. (2marks) A
‘:1=C2'fz g
Lt=25-19 —
b =625-225 0C =20cm

D. Find the length of OB. (2marks)
atthr=c*™ _
2024 2¢%= ¢2 oB- 3106\em
H00 4028 =c?

(I_OES ;E‘L Cx32.0)\

12. What is the measure of ZBCD? Explain your answers. (3 marks)
A ARDs isoSceles So <A: IR

Zgpp= (180 -(H)T2

© (632
= 339

ZRAD =£Rep = 33 since they

owve otk svlatrnded by the tame C
pyimor ayc BD |



13.  Find the length of chord PQ. Show all steps. (3 marks)

14. A satellite orbits the Earth and is located at position A. If the radius of the Earth is 6400
km, how far is the satellite from a person located at position B? (Note the diagram is not
necessarily drawn to scale).

< (3 marks)

b = 6\_“27' — G400
B < H 113394 - H0 60000

(e ={133 Tuy
b= 3272.\

The Sateliite i 2. | kim

nm o PerSOV\ lOCQ"(’O‘ m\_

Paini R.




15. Find the measure of ZOAC. (3 marks)

A
ZROC* 2X(n‘5=|30°
Zonc=(180-130):2
= 50-1
C
D

16.  The cross section of a pipe is shown below. If QR = 50 cm, AB = 32 cm, and O is the
centre, how deep is the water, PC? (Note: OC is perpendicular to AB)

(4 marks)
c;ho‘ 6P:
N .
A
b'l: cC —O
Lt :252"6’1

bz < 625 - 256

e b,
b=19.9 | _P/I‘S

A ‘\ = i'(’ " IL. = /’ B
PQ:QS'H.BT- S_%cm C



